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QUESTION 1

Select the word that best completes the sentence. 

Determined to find the exact cause of the accident, forensic engineers conducted an __________ investigation of the
wreckage. 

A. incautious 

B. overwrought 

C. underfunded 

D. exhaustive 

Correct Answer: D 

 

QUESTION 2

Triangles ABC and LMN are similar. 

What is the ratio of the perimeter of square ABCD to the perimeter of square LMNO? 

A. 1 to 3 

B. 1 to 4 

C. 1 to 9 

D. 1 to 18 

Correct Answer: A 

 

QUESTION 3
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Point (0, 4) lies on a circle whose center is (4,1). 

What is the area of the circle in square grid units? 

A. Option A 

B. Option B 

C. Option C 

D. Option D 

Correct Answer: C 

 

QUESTION 4

The passage implies that rockfish and otters: A. only feed on snails. 
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B. are both predators. 

C. are more familiar than most sea creatures. 

D. feed on the kelp that grows in kelp forests. 

Correct Answer: B 

 

QUESTION 5

The author most likely uses the example of willow bark in order to: A. demonstrate that modern chemistry is not always
better than ancient medicine. 
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B. show how a natural substance could be refined into new forms as scientists\\' knowledge of chemistry improved. 

C. show how ancient people often failed to use resources in the best way because they did not understand chemistry. 

D. provide an example of something in our everyday lives that is made of chemicals. 

Correct Answer: B 
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